H & 0l & AHS B Ml A

A =EAMEA
33 g2 = AdH =55
ol Olsdsk Ehl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=LA A 17,252,285 16,597,363 654,922
= 1,056,000
Jl 917,500
= 3,095,000
Ea 12,183,785
g2 = Adl =52 10,468,959 11,073,944 A\604,985
= 1,056,000
) 917,500
= 3,095,000
= 5,400,459
OtS&==X &l 3,330,204 3,583,405 A253,201
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T 2,131,704
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202 04l 5,940 5,940 0
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- (2I13AH
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e YR 9,342
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
O=ZZAE M= (21)
2,000 *500H 1,000
H=XS Hes 2 1,835,000 1,879,000 44,000
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401 A& HIX R0 1,500,000 200,000 1,300,000
= 1,275,000
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M AEARIA
M HAPAZH|(STAIED)
ol J12gHI(SZ A L) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 24,853 24,056 797
01 At2teltl 20,294 19,497 797
OJlE=3Hl 11,880
(OPJE—=1=da] 7,128
OXtS At ZALZ2(97+13880)
40,0002 *1CH*12] 40
O&=J| RAXld| 51,9002 ~2CH+ 123 1,246
2 35234l 4,559 4,559 0
ORFS RHAI(9723880) 40
OXtS 2 & 2(97+3880) 900
OX+&F =2 XIH1(97+3880) 3,619
202 01| 4,458 4,458
NETET] 4,458 4,458
O=Z AL JI2geFd 1,458
OF=EAIA 2EH 3,000
203 gR=8| 4,536 4,572 A36
02 3t RS &| 756 792 N36
OXE APIXA ZH|
40,0002 x212*90f% 756
M A2 ARFEI 3,780 3,780 0
O==EAgA EA2EHIFA
350,000& x 122 x90% 3,780
WREs(=AEA) 6,749,479 5,481,333 1,268,146
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LS HHRIE 6,749,479 5,481,333 1,268,146
701 JIEtSI HSHES 6,749,479 5,481,333 1,268,146
01 JIEteI A ES 6,749,479 5,481,333 1,268,146
Od+===83 d&= 216,861
O=ZNESENH HES 6,532,618




